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200 M2l 936,053 1,131,175 195,122
210 ZaE N 2= 20,757 31,526 10,769
216 OlXt==& 20,757 31,526 10,769
216-01 ZS30Z3 0k~ 20,757 31,526 10,769
OlI=Z2OIkt = 31,526
220 AN 915,296 1,099,649 184,353
224 M= 0 200,000 200,000
22403  J|Et2IAHIE LY 0 200,000 200,000
US| M3 = 200,000
225 e =Xz 915,2% 899,649 A15,647
22502 OIE3NE= 833,200 833,200 0
sgaeIIS tHESLES = 833,200
22503 O30l Kt==L 82,09 66,449 A15,647
sg2ellls HES0IL = 66,449
600 KIZRH L0 X223+ 1,079,229 935,282 A143,947
630 OIlXIZ2al4 1,079,229 935,282 A143,947
631 OIxl=2l= 1,079,229 935,282 A143,947
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